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MASS COMMUNICATION AND JOURNALISM
Paper III
Time Allowed : 2% Hours] [Maximum Marks : 150

Note :— This paper contains seventy five (75) multiple choice questions, each question

carries #wo (2) marks. Attempt all of them.‘

1. The communication channels are kept open by :

(A) Removing regulations

(B) Phatic function

(C) Proactive accesé

(D) Emotive function
2. Communication with oneself is known as :

(A) Interpersonal communication

(B) Mass communication

(C) Group communication

(D) Intrapersonal communication
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3. Raymond Williams identified the general process of the meaning production

in relation to :
(A) Publicity (B) Advertising
(C) Ideology (D) Public relations

4. The Indian Constitution’s provision for the Right to Freedom of Speech and

Expression is notionally drawn from :
(A) Bill of Rights

(B) Magna Carta of Human Rights
(C) Soviet Constitution

(D) Universal Declaration

5. When a mass media are used by people in a locality it is called the .......................

of media.
(A) Reach (B) Access
(C) Consumption (D) None of these

6. Which was the newspaper that Mahatma Gandhi edited in the year 1919 ?
(A) Indian Opinion (B) National Herald

(C) Pioneer - (D) Satyagrahi

T.B.C. : 19/17/ET-III 4



3. Y fafemeg ¥ wd fafifa @ soe wiea @ dey Frefafes 8 @ frad Siee
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(A) ¥ER (B) famma
(C) Toremyr (D) EYH

4 wRAE SEE F YEYR aEEs 9 sttt o afuer doife w1 @ fo

™ ¥

(A) SfeFRTd ¥

(B) W afuspii %1 werfusras |
(C) uifsza dfaum 4

(D) wEdifFs Soomes |/
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7. Bailooning is a cartoon contains :
(A) Picture (B) Text
(C) Guideliﬁes - (D) No information

8. The aspect ratio of TV Screen is :

(A) 2:3 (B) 4:2
(C) 4:3 ' ' (D) 3:4
9. The Amit Mitra Committee was to prepare a report on :

(A) National broadcast policy
(B) Programme quality of AIR
(C) Broadcast code of ethics
(D) Radio recruitment policy
10. In a post-modern society, culture is :
(A) Regulated (B) Traditional

(C) Commodified D) N on-pluralistic

T.B.C. : 19/17/ET-III | 6
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11. Redundancy in communicétion is opposite of :
(A) Fluency (B) Commonality
(C) Usefulness (D) Entropy

12. When media audience derive different meanings from the same text, the

message is considered :
(A) Polysemic (B) Connotative
(C) Denotative (D) Contrived

13.  Transferring thoughts, ideas and messages into verbal and non-verbal signs

is referred to as :

(A) Channelisation (B) Mediation

(C) Encoding (D) Decoding
14. Sardar K.M. Panickar was associated with :

(A) The Pioneer (B) The Tribune

(C) The Times of India (D) The Hindustan Times

T.B.C. : 19/17/ET-11I 8
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15. One way news flow leads to :
(A) Modernisation (B) Globalisation
(C) Cultural Imperialism (D) Morality Imposition

16.  Match List-I with List-II and select the correct answer from the codes given

below : - =
List I List II
(Committee) (Thrust Area)
(@) Paswan Committee ) (1) Indian news agencies
() P.C. Joshi Committee (2) Status of Indian Film Industry
(¢) Kuldip Nayyar Committee (3) Software for Indian Television
(d) Karanth Committee (4) National Communication Policy

Codes :

@ B @© @
@a o @ 3 @
B) @ @O @ @
© @ & @O @

D @2 @ 3 @
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17.  Match List-I with List-II and select the correct answer from the codes given

below :
List I | List II
(Founder/Editor) (Newspaper)
(@) Annie Besant (1) The Statesman
(6) Thomas J. Bennet (2) Forward
(¢) Robert Knight (3) New India
(d) Chittaranjan Das (4) The Times of India
Codes :

@ @ @ @
A @ @O @6 @
B & QO @ @
e B @ (@O @)

O 2 & @ @
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18.

19.

20.

Find out the correct sequence of the editorship of the Indian Express :
(A) V.K. Narasimhan, B.G Varghese, Shekhar Gupta, S. Mulgaokar
(B) S. Mulgaokar, V.K. Narasimhan, B.G. Varghese, Shekhar Gupta
(C) B.G. Varghese, Shekhar Gupta, S. Mulgaokar, V.K. Narasimhan
(D) Shekhar Gupta, S. Mulgaokar, V.K. Narasimhan, B.G. Varghese
Frequency range 6f FM Broadcast is :

(A) 80 MHz — 110 MHz

(B) 88 MHz — 110 MHz

(C) 80 MHz — 108 MHz

(D) 88 MHz — 108 MHz

The multiplicity model of developmental communication was advocated

by :
(A) Jan Servaes (B) Lucien Pye
(C) Shirley White (D) Bella Mody

T.B.C. : 1917/ET-11I 14
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21.

22.

23.

24.

The term, development support communication was advocated by : .

(A) Paul Streeten (B) E.M. Rogers

(C) Erskine Childers (D) Y.V. Laxmana Rao
Semiology uses a microscopic vi.ews of texts to _ ............... them.
(A) Construct (B) Deconstruct

(C) Expand (D) Shorten

Raymond Williams identified the general process of the meaning production

in relation to :

(A) Ideology (B) Publicity

(C) Advertising (D) Public relations

Socially and culturally less powerful people are ................... by mass media.
(A)  Supplemented (B) Counselled

(C) Derecognised (D) Stereotyped

T.B.C. : 1917/ET-11I 16
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25. Match List-I with List-II and select the correct answer from the codes given

below :
List I List II
(@) Stay ahead of times ‘ (1) Onida
() Neighbour’s Envy (2) Nokia
(¢)  Graduate to Times (3) The Hindu
(d) Connecting People (4) The Times of India
Codes :

@ @& @© @
@ ® @ @ @
B 3 @O @ @
© 3 @O @ @

M @& @ @ @
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26.  An economy dependent upon selling and purchasing goods and services besides

advertising to create a climate of purchases is supposed to promote :
(A) Brand names
(B) Sale society
(C) Consumer culture
(D) Advertising environment
27. The iargest advertising agency of the world is :
(A) J. Walter Thompson
(B) Dentsu
(C) MacConn-Erikson Worldw.;vide
(D) WPP Group
28.  Fiske and Hartley have identified the concept of :
(A) Community radio (B) Bardic television

(C) Delinquent media (D) Juvenile rhedja

T.B.C. : 1917/ET-11I 20
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29.

30.

31.

The positivist paradigm, adopted by researchers in Mass Communication, makes

a liberal use of :
(A) Descriptions (B) Fictional narratives
(C) Aesthetics | (D) Quantifications -

The Second Press Commission of India recommended the removal of Section

5 of :

(A) The Press Council Act, 1978

(B) The Official Secrets Act, 1923

(C) The Contempt of Courts Act, 1971

(D) The Press and Registration of Books Act, 1867

In the question given below are two statements labelled as Assertion (A) and
Reason (R). In the context of the two statements which one of the following

is correct ?

Assertion (A) : Iconic languages, for example photography work differently.
Reason (R) : Here the paradigms are clearly defined.

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

T.B.C. : 19/17/ET-II1 22
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32. Identify the correct sequence of McQuail’s five basic functions of media.
(A) Information, Correlation, Continuity, Entertainment, Mobilization.
(B) Correlation, Continuity, Entertainment, Mobilization, Information.
(C) Continuity, Mobilization, Entertainment, Correlation, Information.
(D) Entertainment, Correlation, Mobilizétion, Continuity, Information.

33.  Identify right sequencing of countries that began publication of newspapers

in the early 17th century.
(A) England, France, Belgium, Germany.
(B) France, Germany, England, Belgium.
(C) Belgium, England, Germany, Frapce.
(D) Germany, Belgium, France, England.
34. Which one of the following is not a purpose of the me&_ia theory ?
(A) To answer what is going on
(B) To suggest what will happen next
(C) To tell yvhat happened. in the past

(D) To serve as a guide to future behaviour

T.B.C. : 19/17/ET-III 24
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35. The universal model of communication will have :
(A) Six components (B) Five components
(C) Four coxﬁponents (D) Three components
36. Newcomb's model of communication is :
(A) Linear (B) Oval
(C) Rectangular (D) Triangular

37.  The advertising medium that has the advantage of high selectivity, immediacy

and low cost is :
(A) New.spaper (B) Direct Mail
(C) Radio | (D) Online
38. The possible harmful effects of mediated communication always leads to :
(A) Production glut (B) Moral panics

(C) Economic concerns (D) Ad attention

T.B.C.: 1917/ET-III 26
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39. Scheme advertising aims at ...................... promotion.
(A) Institutional (B) Creative
(C) Consumer | (D) Internal

40. The off-script lines that characters or anchors say in real time are known

as .
(A) Amplitude " (B) Ad-libbing
(C) Break (D) Bridge

41. In reporting, verification is understood to lllave conformity with specified :
(A) Techniques (B) Ideals
(C) Sources (D) Criteria
42. For U.S. Journalists, the ideal basis of news reliability is :
(A) Triangulation (B) Advocacy
(C) Saleability | (D) Authority

T.B.C. : 19/17/ET-III 28
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43.  Advertising is the best way to communicate to the :
(A) Customer (B) Client
(C) Producer (D) Manufacturer
44. Which form of advertising is he-avily used to intr”oduce a new product ?
(A) Persuasive advertising (B) Reminder advertising
(C) Inferential advertising (D) Informative advertising
45. Marketing includes :
(A) Auditing and analysis . (B) Planning
(C) Product development (D) All of these
46. The literal meaniﬂg of marketing is :

(A) Buy or sell any product (B) Buying of product

(C) Selling of product (D) None of these

T.B.C. : 19/17/ET-III 30
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47.

48.

49.

What is Internet Addiction Disorder ?

(A) It is a state of discontent that arises out of faulty transmission of

e-mail messages.

(B) It is the change in the psyche of children due to their addiction to internet.

(C) It is the change in the behaviour of an internet user due to constant
use of internet based services; such a user becomes secluded, depressed

and easily angry.
(D) None of the above

Communication requires that the communicating parties share an area of

communicative :
(A) Differentiation (B) Distinction
(C) Commonality * (D) None of these

Printing and the written communication was possible because of the invention

of :
(A) Printing machine (B) Guttenberg press
(C) Publication houses (D) All of these

T.B.C. : 191 7/ET-1I1 32
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50. Communication can be accomplished with the help of :

(A) Action (B) Gestures
(C) Head movements (D) All of these
51. “Communication is the sum of all things one does”, is a definition given by :
(A) Ordway Tead  (B) Aristotle
(C) Alien Louis (D) Harold D. Lasswell

52. In the question given below are two statements labelled as Assertion (A) and
Reason (R). In the context of the two statements which one of the following

is correct ?
Assertion (A) : The oldest type of broadcast system is telephone

Reason (R) : Through telephone oral communication can be done with a

person.

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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50. Ehww frefafea § F feasl weg & v 1 g € 2
(A) e " (B) &R
© fr # T ® & wh

51. ‘‘HRYor 9% @ € O ¥ H ), 98 Ui fEw & ' 2
(A) 3 dE | (B) 3% —
(© Q‘é’*l'ﬁsﬂ (D) Tee & awEa

50. frefafag wea 8 afiswed (A) 3R @ (R) & ®9 # fiu 1 @ a9@ &1 = H
aqEl & e A frefafea # | #@a@ @@ T 2
IRTHIT (A) : FIEHEZ TONCA FT FIH AT GHR SAHH. B
aa&(m:m'sqﬁaaéﬁrwmﬁfmwmﬁm%u
Hhd :
&) I (@A) s ®) W ¥
(B) i (A) iR (R) w1 ¥, AfF7 (R) (A) F1 W& Tt 4@l ®
(C) (A) W& g, afed (R) Tod €

(D) (A) To@ §, AfFa (R) W& §
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53.  In the question given below are two statements labelled as Assertion (A) and

Reason (R). In the context of the two statements which one of the following

is correct ?

Assertion (A) : The most significant and legitimate step in terms of Indian

broadcasting has been Prasar Bharti Act.

Reason (R) : Doordarshan and All India Radio were separated under this

Act.

Codes

(A)

(B)

(C)

(D)

Both (A) and (R) are true
Both (A) and (R) are true but (R) is not the correct explanation of (A)
(A) is true but (R) is false

(A) is false but (R) is true

54.  The qualified privilege in relation to parliamentary proceedings in India is

based on :
(A) The Irish law @) ‘The Amierican law
(C). The Australian law (D) The British law

55. The Right to Know in India is :

(A)

(C)

Unlimited (B) Unparalleled

Absolute (D) Limited
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53. fr=fafea wea o sfiysas (A) iR @ (R) & &9 # fou 7u & =9 1 39 i
Fa[l & ged ¥ frefafes § @ S99 @ § 2

ANTHIT (A) : 9T FEHMRT B T H YOR YRl W@ 994 Ty wa 3feq

il
ﬁ(R)zwmmwwém@@ﬁqw\amu
dad :
@) A @) o ®) @ E
(B) 3 (A) 3R (R) & ¥, afFT (R) (A) # W& W& 76 8
(©) (A) W& &, dfeT (R) e[ '
(D) (A) Te@ ¥, WfFT (R) & ©

54. WRd A G9Eg FEaE & g<d § g fadwfusr fF wE w o aafa ® 2
(A) amﬁm (B) smft

©) atfar () fafew

55. 9a ® ‘'S & sifeer

(A) areifga ¥ (B) e &

(Cc) fw % (D) difm ®
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. 56. Intervening variable is also known as .................. variable.
" (A) Dependent (B) Control
(C) Systematic (D) Cumulative

57. Which medium is traditionally known as poor cousin of television and print

media ?
(A) Out-door media (B) Transit media
(C) Folk media (D) New media

58. In the mass manipulative model, the audience is considered as :
(A) Aligned (B) .Active
(C) Paésive | (D) Critical receptionists
59. The country in which the print medium is growing fast in the world is :
(A) The United States (B) France
(C) Canada (D) India
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56. sewEitam aftEe o IfdEa ot FE W gHEa ¥
(A) feide | (B) Faa
(C) - To=ifes (D) Fgaifes

57. frg meam # Seifas ok fiz mem @ Tiufie 9 W FESR RERR 9Er S

R,
(A) STZTER HEFH (B) wifge Hifemn
(C) e wHifem D) = wHifem

58, W Wffueifea dfew # saeli @ 99 S ©

(A) =1 g3 (WES) (B) wfwa

() fafssa (D) IErEAS TevTHdl

59. fava § frg 2w § HEw WA At ¥ W@ W € ?

(A) g T (B) wE

(C) =h =l (D) g
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60. The 42nd Amendment to the Indian Constitution was in relation to -
(A) Parliamentary Privileges (B) Right to privacy
(C) Defamation (D) Sedition

61. The presence of an extraneous variable in media research indicates :

(A) Reliability (B) Mobility
(C) Lack of internal validity (D) Presence of validity

62. Civil detention is a punishment for :

(A) Sedition ' _ (B) Breach of secrets

(C) . Contempt of court (D) éopyright violation
63. Broadcasting is a/an .................. e activity.

(A) Institutional (B) Non-political

(C) Dependent (D) Individual

64.  Simultaneous transmission of several channels of compressed digital contents

of television is referred to as :
(A) Digicast (B) Multicast

(C) Narrowcast (D) Personal cast
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60.

61.

62.

63.

64.

yRdra d@faum § 4207 geeE wefia © o

(A) dugH fadrenfusr @ (B) frsmn &1 sfusR 4

(C) wrefd | (D) TEEE |

difear iy # ©F A (TREAeR) W (SiwEe) F ufeft wEa w6 € o
(A) fagagr (B) Tiferefieran

(C) Aiafte duan w1 wHI D) Feram w1 AR

A fevma fra <5 & faw & 2

(A) TSHE (B) T = T
(C) TR F STEHE (D) THIdRIES 1 SecreH
TR T o &

(A) HEaeh © (B) TR-UsHifae

(C) e (D) SafFRH

Sefifae =t g g8 fefes fawa-awg &1 ¢ I § T WY oy s 9wt JEm
R =0 w9 § seofEa A ¥ |

A) fefoare (B) Wi

(C) TR (D) UHTA HR=
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65. A TV news package incorporates :
(A) Anchor + visuals only
(B) Anchor only
(C) Anchor + bite + PTC + visuals |
(D) Anchor + PTC only
66. The items that indicate inside content in a newspaper are called :
(A) Ears (B) Ear Panels
(C) Flags (D) Teasers

67. Which one of the following does not contribute to the credibility of the

press ?
(A) Impartiality (B) Believability
(C) Sensationalism (D) Accuracy

68. Which new term has overshadowed the term yellow journalism ?
(A) Red journalism (B) Black journalism

(C) Green journalism (D) Grey journalism
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65.

66.

67.

68.

w Ad. =9 few | wmiva da ¥

(A) Had GHER IUYFH + §¥

(B) Had WHER ITHUH

(C) ¥HER I|ENE + W5 + U + g
(D) wHad THER ITEE + G

3§ IS S wH EER-TA # el fasm-asg # oI edha FI § I el ol
s

(A) 33H (B) W e

©) W D) o

frefafon § =1 © 9 F favawaa § weEw w@ A ¥
(A) Frovea (B) &

(C) TAGH haAR H FE (D) @I
qﬁam&m(ﬁaﬁﬁm)sﬁﬁﬁmmmﬁaﬁ?
(A) Y wHfeH (B) = wfersH

(C) WA SrHfersH (D) A SHfeH
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69. Working Journalists Act was introduced in :
(4) 1947 | (B) 1950
(C) 1955 | (D)  1960'
70.  The primary function of interpersonal communication is :
(A) ReaSoning (B) Relationship building
(C) To inform (D) To provide relaxation
71.  Mass communication gets filtered by :
(A) Audience (B) Media
(C) Gatekeepers (D) Encoders
72. When an advertising agency offers several specialized services, it is caﬂed -
(A) Bunch (B) Umbrella
(C) Boutique (D) Bougquet
73.  Bloomberg specializes in supplying :
(A) Political news (B) Sports news

(C) Financial news (D) Society news
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69.

70.

:

72.

73.

w«ﬁa’rmaﬁxﬁmﬁmﬁrwe‘n:

(A) 1947 & - B) 1950 #

(C) 1955 ¥ (D) 1960 H

- HOR w1 Wafas wH ¥ -

(A) & (fsif) (B) waw fmfo

(C) Hfad T D) B Y&H &I
SEER g feex feen s ®

(A) aﬁ?n/z?f% (B) ifemn

© W (Treshiad) D) THEH (FHT TEGF)
o fagrm wed fafy= fagsiea ot St &, & 3} Fe 9 ®
(A) &+ (B) awsict

©) h . (D) &

st w1 fered fadoman @ 2

(A) TSR THER | (B) ¥d §HER

(C) Tadira TR (D) HEEE =g
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74.

75.

In the question given below are two statements labelled as Assertion (A) and

Reason (R). In the context of the two statements which one of the following

18 correct ?

Assertion (A) : The communitarian strategy of development involves

communication, peace, democracy and real development.

Reason (R) : Because it is opposed to market forces and mechanisms aimed

a corporate profits.

Codes

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not the correct expalanation of (A)

(€. (A)is true but (B) is falss

.(D) (A) is false but (R) is true

In the question given below are two statements labelled as Assertion (A) and
Reason (R). In the context of the two statements which one of the following

is correct ?

Assertion (A) : Development means equal access to products, services and

opportunities on purely economic terms.

Reason (R) : Bits and watts increase mass production and consumption,

resulting in modernized poverty.

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true, but (R) is not the correct expalanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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74. fr=fafes g7 3 sfuysgd (A) 3R @ (R) & ®9 # Gu 7o & 59 1 & 24
s & ded # frafafes § 3 39w @@t ¥ 2

frweT (A) : faem =1 sgfiEs wHfa ge9r, wifa, deas iR arafas fa=w
F1 e w1

T (R) : Hifeh 98 9NR &I 9Fa 361 7w ondl & @sg =t sfwasi &1 faiy
HE B

Hehd
(A) I (A) @R (R) §& ¥
(B) ¥H (A) SR (R) W& & afF5 (R) (A) &1 §& Wi & 2
(C) (A) W& %, afF (R) T %
D) (A) T&a ¥, dfFT (R) &1 &
75. fr=fafas yva # sfusem (A) @R 7% (R) & &9 § &Ry 7w < @@ 1 @ <H
M % HeYd ® fefafad # 4 f99 W@ § 7
afirerer (A) : fosis onfde @1df 3 T = aed & Sael, Jaedl iR staed
T TES UeH | :

T (R) : f92@ 3R areg o2 99 W 3= iR @y ! wen ¥ s uftomsasy
anefes TS sl ®

ehd :

(A) TF (A) 3R (R) & T

(B) TH (A) 3R (R) & ¥, &fF7 (R) (A) F1 Wél TI<t=w 48 2
(C) (A) w& %, ofF7 (R) Tow@ ¥

D) (A) T @, wfwT (R) ¥& €
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